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e If y varies directly as x and y = 9 when . . If y varies directly as x and y = 16 when
. x = 6, find y whenx =~ 8. x = 36, find ¥y when x = 54,
o
[8] 1f y varies directly as x and x = 15 (A 1f y varies directly as x and x = 33 when
when y = bifind & wheny. =8¢ oo o =22, find x when y = 32, ) ‘
Suppose'y varies jointly as x and z. Suppose y varies jointly as x and z. Find y
Find y whenx =5 andz = 3,ify = 18 whenx = 6andz = 8,ify = 6 whenx = 4
whenx = 3 andz = 2. , and z = 2. .
Suppose y varies jointly asx and z. Suppose y varies jointly asx and z. Find y
Findy whenx = 4 and z = 11, if y = 60 whenx = 5 and z = 32, if y = 84 when
when x = 3 and z = 5. x=4andz =17 .
If y varies directly asx andy = 14 If y varies directly as x and x = 200 when
when x = 35, find y when x = 12, - y = 50, find x when y = 1000.
If y.varies directly as x.and.y.= 39 ... ___If y varies directly as x and x = 60 when
' when.x = 52, find y when x = 22. y =75, find x when y = 42.
Suppose y varies _19_@;_1_1_:1;7 as x and z. Suppose y varies jointly as x and z. Find y
Find y when x = 6 and z = 11, if when x = b and z = 10, ify = 12 when
y =120 whenx = 5 and z = 12, : x=8andz = 6.
Suppose y varies jointly as x and z. | Suppose y varies jointly as x and 2. Find y
when x = 5 and z = 27, if y = 480 when

Find y whenx = 7 and z = 18, if
y =351 whenx = 6 and z = 13. x = 9and z = 20.

@ If y varies inversely as x and y = 12 when x = 10, find y when x = 15.
@ If y varies inversely as x and y = 9 when x = 45, find ¥ Whén x = 27 -
If y' varies inversely as x and y = 100 When x = 38, find y when x = 76.
_If y varies inversely as x and y = 32 when x = 42, find y when'x = 24.
@ If y variéé in{refsely as x andy = 86 when x = 10, find y when;ﬁ = 30
@ If y varies inversely as x and y = 75 Whenvx' = 12, ﬁnd y when x = 10.
@If y varies inversely as x and y = 18 when x = 124, find y when x = 93.
@ If y varies inirersely asx and y = 90 when x = 35, find y when x = 50 |
@ If y varies inversely as x and y = 492 when x = 48, find ¥ when x = 36.
If y varies inversely as x and y = 44 when x = 20, find y when x = 55.
@j If y varies inversely as x and y = 80 when x = 14, find y when x = 35.

If y varies inversely as x and y = 3 whenx = 8, find y when x = 40.

- @If y varies inversely as x and y = 16 when x = 42, find y whenx = 14.

If y varies inversely as x aﬂd y = 9 whenx = 2, find y whenx = 5.
, If y varies inversely as x and y = 23 whenx = 12, find v when x = 15.




Ify varws%asx and y = 8 whenx = 2, find y when x = 6.

@ If y varies directly as x andy = —16 when x = §, find x when y = ~4.
@Ify varies ditectly as and y = 132 when & = 11 firid y whén x = 33: '
@Ify x‘faries_d_ir_e_agﬂy apx'and y - 7 when x =" 1.5, find y when x =4.-

Ify varies jointly as x and z and y = 24 whenx = 2andz = 1, {indy When x =12
" andz = 2. _

@ If y varies jointly as x and zandy = 60 when x=3andz = 4, find y when x =6
and z = 8.

Ify varies jointly as x and z and y = 12 when x = -2 and z = 3, fmdy when x = 4
andz = —1

| @ If y varies 1nversely as x and y = 16 whenx = 4, find y when x = 3.
@ If y varies inversely as x and y = 8 when x = 5, find x wheny = 2.5,
@ If y varies inversely as x and y = —18 when x = 6, find y when x = 5.

If y varies directly as x andy = 5 when x = 0.4, find x when y = 37.5.

If a varies jointly as b and and the square of d, and a = 25 when d=2andb=10.
Then was is the value of a when b = 3 and d=27

: @ ify varies mversely as the square of x and if x =16 when y = 4, what is y when x = 37

@5] Given y varies jointly as x and the positive square root of z, and | inversely as w. Also,
y=3whenx=2, z=4and w=16. Find y when x = 15, z=36, and w = 5.

. @ rvanes__d_fmﬂy as the square of u and Inversely as t. When u = 4 and t = 2, then
Y= 24 Findrwhenu=1andt= 1.

ELE'I] C varies nversely as the cubed rootof b, and ¢ = 5whenb = 27. Find ¢ when b= 64

- - 3) Y garues dlrectldy as x and mversely aszsquared. fy =B5whenx =2 and z = 1 find 2
whenx=Tandz=2"

. rn varies jointly as n,and the cube of p. Find m when n= =Z2and p =3, if m=4when
n=2andp=4.

. +varies jointly as g and the cubed root of h, and | inversely as the sguare of . h‘ f=
when g 4, h=27 and; = 2, what is the value of f wheng =3, h=125and|=
v




